Exz {FESE R i S [T
#rLTE FoE 50% 240% 6944.66  m> ( 2,100.76 #F)
% IR RS m” ( 0.00 £F)
724+ 717%95% | 7174127075+ m’ ( 0.00 £)
112410 H26H HRTERR6K m? ( 0.00 %)
AT =t 50.0% 240.00% 6944.66 m* (| 2,00.76 %)
o S fE - = 16,667.18  m? ( 5041.82 £F)
AT = m” ( 0.00 £F)
Ho A IR = m’ ( 0.00 ¥)
=t 16,667.18  m” (| 5041.82 )
SR ) 31,115.68 * 7.0% = 2,178.10 m’ ( 658.87 #F)
Ha5Eb) =| 31,115.68 * 8.0% = 2,489.25 m® ( 753.00 £)
15%%zt(c) = 2500078 * 15% = 3,750.12  m’ ( 1134.41 £7)
H R A o) =| 16,667.18 * 50% = 8,333.59 m’ ( 2520.91 £ )
HIEEE(2) =| 16,667.18 * 0% = 0.00 m’ ( 0.00 £F)
A P2 AN (o) 16,667.18 * 0% 0.00 m? ( 0.00 %)
R 16,667.18 * 0% 0.00 m’ ( 0.00 £F)
B HEALEREG) = m” ( 0.00 £F)
HAREFEE) =| 1666718 + 14261.81 (Ca~Cj-Cb) =| 3092899 m> ( 9356.02 £F)
2 22 E(F) =| 347233 /8% 3 F = 1,302.12  m? ( 393.89 #T)
HNEEEQG) =| 421680 * 3 F = 12,650.39  m? ( 3826.74 +F)
PREmERE (H) =] 3800947 * 0.0% = 0.00 m’ ( 0.00 £F)
dEPHEmE =| O+E+FG % 260%  +H) =| 3800947 m’( 11497.86 #¥)
REL O 38,009.47 ¥ 1.05 =| 3990994 m’ (| 12072.76 &)
KETE R LTS 39,909.94 m* (| 12072.76 )
KRR T (G+E+F) = 4488150 m® (| 13576.65 iF)
SEEIFE = 30,928.99 - 50000 / 120 = 254
EESA = 44
WNEEEERE= (12.857/F) &al = 208
AT E 30929 - /100 = 309 i
- &t = 309 &
FEER A fEmax =| 694466 * 50.0% 347233 m’ ( 1050.38 #7)
B i fmax =| 6944.66 * 60.7% = 421680 m’ ( 1275.58 )
SRS = 1207276 =+ L F2IF + 240F = 23.51 fE
HEEL = 20800 + 459 F = 0.65 #F
PHEFEL =| 39,909.94 =+ 25,001 m? = 1.60
+ PR =| 39,909.94 =+ 6,944.66 m> = 5.75
NEEEE =| 12,61831 <+  38,009.47 = 33.2%
et LEE TR 39,909.94 * 16050 = $640,554,524.79 ¢
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